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MMPOT'PAMMA BCTYNUTEJBHOI'O UCHBITAHUS IO AHT IMUCKOMY S3BIKY
JIJISI TIPO®ECCHUOHAJILHBIX IEJEMR I/ MIOCTYIAIOIIIAX B
MATHUCTPATYPY 11O KOHKYPCHOM I'PYIIIIE ®5BT YIIPABJIEHUE
TEXHOJIOI'MYECKUMHU ITPOAYKTAMMU

1. LEJIb BCTYIIMTEJIBHOI'O UCITBITAHUA

HGJ'IB BCTYIIHUTCIBHOI'O HUCHBITAHHA — OIPCACIINTb YPOBCHb BJIAACHHUA aHIJIOA3BIYHBIMHA
KOMMYHHKAaTHBHBIMU  YMCHUAMU, a TaKXE€ OLCHHTb TaKHC  aCIICKThI KOTHUTHBHOM
ACATCIIbHOCTH a6I/ITypI/ICHTOB, KakK aHaJIu3 Ta6J'II/II_I, TCKCTAa, H306pa)KeHI/II71; HAaBbIKHM PCHICHUA
HpO6H€M; CIIOCOOHOCTH K a6CTpaKTHOMy MBIIIJICHHUIO 1 O606H_I6HI/IIO W KOHLCHTPAIWIO BHUMAHHA.

2. TPEBOBAHUMS K ITOCTVYITAIOIIIM

Ha BcTynuTenbHOM HCHBITAHMM AOUTYPUEHT JOJDKEH MPOJEMOHCTPUPOBAThH BIIAJICHHE
AHTJIMHCKAM SI3BIKOM KaK CpEJICTBOM NPO(ECCHOHATBLHOTO OOINEHHUs, YTO TOpa3yMeBaeT:
aJIeKBaTHO€ KOMMYHUKATUBHON CUTYallUU YIOTPEOJICHUE SI3BIKOBBIX CPEJICTB aHIIIMHCKOTO SI3bIKA
Ha BCEX YPOBHSX; 3HAHUE JIEKCUYECKUX, TPaAMMATHYECKUX ¢ CTUIUCTUYECKUX HOPM
COBPEMEHHOT0 aHTJIMHCKOTO JUTEPAaTypHOrO s3bIKa W MpPaBWI YHNOTpeOJieHUs BapHUaHTOB
S3BIKOBBIX €IMHHUII, OMPEAENIEMbIX CTHJICBBIMH M KaHPOBBIMU TPEOOBAHUSIMU B Pa3rOBOPHO-
OBITOBOM, O(UIIMANBHO-IETIOBOM M HAay4YHOH cdepaXx KOMMYHHUKAIMW; BlaJeHue 0a30BOi
MpoeCCUOHAIBHON JIEKCUKOM; 3HAaHHE OCHOBHOW TEPMHUHOJIOTHH (MaTeMaTHKa, MEHEIKMEHT,
HPKOHOMUKA) B pamkax denepalibHOr0 rocy1apCcTBEHHOT0 00pa30oBaTeNbHOTO CTaHAapTa CPETHETO
(TTOTHOTO) OCHOBHOT'O 00pa30BaHUSI.

3. TPEBOBAHMSA K COJAEPXAHUIO SI3bIKOBOM KOMITETEHLIMHN
ABUTYPHUEHTOB

3.1 Mamemamuyeckaa uacms. BoIpochl, CBA3aHHBIE C PELICHHEM MaTeMaTHYECKUX
3a/1a4 TECTUPYIOT ~MAareMAaTHYE€CKUE HABBIKM, IIOHUMAaHHE OCHOBHBIX MAaTE€MAaTHYECKHUX
KOHIIETIIMI, CIIOCOOHOCTh pacCyXIaTb MaTeMaTHYeCKH M pellaTh KOJMYECTBEHHBIE 3aJlauu.
Bormpocsl, cBsi3aHHBIE ¢ OIIEHKOM JOCTaTOYHOCTH UMEIOIINXCS TAHHBIX, OLIEHUBAIOT CIIOCOOHOCTh
KaHJMJ1aTa aHaIM3UPOBAaTh MAaTEMAaTHUYECKYIO 3a/1auy, PaClO3HABATh HH(OPMAIIHIO, PEIEBAHTHYIO
JUTSL JAaHHOM 3a/1a4u¥l, U ONPEeeNaTh, KOrja uMeroieiicss nHGopMaluy T10CTaTOUYHO ISl peleHus
3a/1a4ul.

3.2. Bepbanvnas uwacme.

Umenue (Reading). TlonuMaHnue MPOYUTAHHOTO TEKCTA, OTBETHI MO TEKCTY OOIIEro H
YaCTHOTO XapakrTepa. TeKCThI MOJOUPAIOTCS W3 SKOHOMHKH, UCTOPUH, OWOJIOTHH, TEOJIOTHH U
JIpyTHX 00JacTei. Bormpockl mpoBepsIOT YMEHHE BBIJICIIATH OCHOBHYIO MBICITb TEKCTA, OIIPE/ICITHTD
IeJTb HAIMCAHMSI, TIO3HMIIMI0 aBTOPa, ONPEISIUTh (YHKITUH OTICIBHBIX Maparpados, MOHATH, C
KaKOW TeJIbI0 aBTOPOM OBLTa YIIOMSHYTA Ta WJIA WHAs HHPOPMAITUS WU OIMCAHO TO WM HHOE
SIBIICHUE, OITUCAHHOE B TEKCTE.

Kpumuueckoe mviunenue (Critical Reasoning). lloHumanue yTBEpXAEHUS U €rO
JOTUYECKUI aHaun3, KPUTHYECKOE OOOCHOBAaHUE COOCTBEHHBIX MbIcied. Jlormueckas
apryMeHTalus1, ONPOBEPKEHNE U MTOATBEPKACHUE I0BOJIOB, YMEHHE JIeNIaTh CJIOMKHBIC BHIBOIBL.



I'pammamuxa (Sentence correction). VicnpaBieHne rpaMMaTH4ecKux, opdorpaduueckux,
CTHJIUCTUYECKHX M CHHTAKCUYECKHX OLIMOOK B MPEIOKECHUSAX.

Ananumuueckoe nucomo (Analytical Writing Assessment). AHalMTHYECKHIA aHAIH3 dCCE,
coJieprkaiiee omuoOKku 0000IIeHNs, aHATIOTUH, HEOOOCHOBAHHOM MPUYHHHO-CIICJICTBEHHON CBSI3H,
MIOJMCHBI TTOHATUH, HETOATBEPKICHHBIMH TIPEAIOJIOKEHUSIMH, KOTOpPBIE aBTOpP apryMeHTa
UCIIONIL3YET B CBOEM paccykaeHuu. HeoOxonuMo onpenenuTh, Kak MUHUMYM, TPH JIOTUYECKUE
OMMOKH, apryMEHTUPOBAHHO ONKCAaTh MX W PEKOMEHIOBaTh CHOCOOBI MX YCTpaHEHHUs. Dcce
COCTOMT W3 BBEJEHUS, TpeX a03aleB OCHOBHOW 4YacTu (II0 OAHOMY Ha KaXKIyl OLIMOKY) U
3aKITIOYCHUSI.

3.3. [Ilpumepsbl IK3aMeHALIMOHHBIX 3a1aHUI

Mamemamuueckas yacme.

Pewenue npooremur (Problem-solving)

Solve the problem and indicate the best of the answer choices given.

Numbers: All numbers used are real numbers.

Figures: A figure accompanying a problem solving question is intended to provide information
useful in solving the problem. Figures are drawn as accurately as possible. Excerptions will be
clearly noted. Lines shown as straight are straight, and lines that appear jagged are also straight.
The positions of points, angles, regions, etc. exist in the order shown, and angle measures are
greater than zero. All figures lie in a plane unless otherwise indicated.

e In a certain sequence, every term after the first is determined by multiplying the previous
term by an integer constant greater than 1. If the fifth term of the sequence is less than
1000, what is the maximum number of nonnegative integer values possible for the first
term?

A) 60B)61C)62D)63E)64
e A student committee on academic integrity has 90 ways to select a president and vice-
president from a group of candidates. The same person cannot be both president and vice-
president. How many students are in the group?

e In a certain game of dice, the player’s score is determined as a sum of three throws of a
single die. The player with the highest score wins the round. If more than one player has
the highest score, the winnings of the round are divided equally among these players. If
Jim plays this game against 21 other players, what is the probability of the minimum score
that will guarantee Jim some monetary payoff?

Onpeodenenue docmamounocmu oanuwlx (Data Sufficiency)

Each data sufficiency problem consists of a question and two statements. In data sufficiency
problems that ask for the value of a quantity, the data given in the statements are sufficient only
when it is possible to determine exactly one numerical value of quantity.

(A) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

(B) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

(C) BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.
(D) EACH statement ALONE is sufficient.



(E) Statements (1) and (2) TOGETHER are NOT sufficient.

e If x is a positive integer, is X — 1 a factor of 104?
(1) x is divisible by 3.
(2) 27 is divisible by x.

Bepbanvnas uacme.
Ymenue.
Each of the reading comprehension questions is based on the content of a passage. After reading
the passage, answer all questions pertaining to it on the basis of what is stated or implied in the
passage. For each question, select the best answer of the choices given.
Ecoefficiency (measures to minimize environmental impact through the reduction or elimination
of waste from production processes) has become a goal for companies worldwide, with many
realizing significant cost savings from such innovations. Peter Serge and Goran Carstedt see this
development as laudable but suggest that simply adopting ecoefficiency innovations could actually
worsen environmental stresses in the future. Such innovations reduce production waste but do not
alter the number of products manufactured nor the waste generated from their use and discard;
indeed, most companies invest in ecoefficiency improvements in order to increase profits and
growth. Moreover, there is no guarantee that increased economic growth from ecoefficiency will
come in similarly ecoefficient ways, since in today’s global markets, greater profits may be turned
into investment capital that could easily be reinvested in old-style eco-inefficient industries. Even
a vastly more ecoefficient industrial system could, were it to grow much larger, generate more
total waste and destroy more habitat and species than would a smaller, less ecoefficient economy.
Senge and Carstedt argue that to preserve the global environment and sustain economic growth,
businesses must develop a new systemic approach that reduces total material use and total
accumulated waste. Focusing exclusively on ecoefficiency, which offers a compelling business
case according to established thinking, may distract companies from pursuing radically different
products and business models.
Questions 1-3 refer to the passage above.
1. The primary purpose of the passage is to
(A) explain why a particular business strategy has been less stressful than was once
anticipated
(B) propose an alternative to a particular business strategy that has inadvertently
caused ecological damage
(C) present a concern about the possible consequences of pursuing a particular
business strategy
(D) make a case for applying a particular business strategy on a larger scale than is

currently practiced



(E) suggest several possible outcomes of companies’ failure to understand the
economic impact of a particular business strategy
2. The passage mentions which of the following as a possible consequence of companies’
realization of greater profits through ecoefficiency?
(A) The companies may be able to sell a greater number of products by lowering
prices.
(B) The companies may be better able to attract investment capital in the global
market.
(C) The profits may be reinvested to increase economic growth through
ecoefficiency.
(D) The profits may be used as investment capital for industries that are not
ecoefficient.
(E) The profits may encourage companies to make further innovations in reducing
production waste.
3. The passage implies that which of the following is a possible consequence of a
companies’ adaptation of innovations that increase its ecoefficiency?
(A) Company profits resulting from such innovations may be reinvested in that
company with no guarantee that the company will continue to make further
improvements in ecoefficiency.
(B) Company growth fostered by cost savings from such innovations may allow
that company to manufacture a greater number of products that will be used and
discarded, thus worsening environmental stress.
(C) A company that fails to realize significant cost savings from such innovations
may have little incentive to continue to minimize the environmental impact of its
production processes.
(D) A company that comes to depend on such innovations to increase its profits and
growth may be vulnerable in the global market to competition from old-style ecO-
inefficient industries.
(E) A company that meets its ecoefficiency goals is unlikely to invest its increased

profits in the development of new and innovative ecoefficient measures.

Kpumuueckoe moiunenue (Critical Reasoning)
Each of the critical reasoning questions is based on a short argument, a set of statements, or a
plan of action. For each question, select the best answer of the choices given.

e Studies have shown that an automobile that runs on a blend of 85% ethanol/15% gasoline

gets better mileage than an otherwise similar car equipped with a gasoline engine. Many



American legislators have concluded that an increase in tax incentives for ethanol
production would lessen our dependence on foreign oil. Which of the following, if true,
casts the most doubt upon the validity of the legislators’ conclusion?

(A) It takes 1.5 gallons of oil to produce 1 gallon of ethanol.

(B) Electric cars are cheaper to operate than cars running on the ethanol fuel mix.

(C) It costs thousands of dollars to retrofit an automobile to run on the ethanol fuel mix.
(D) The ethanol/gasoline blend emits more pollution than regular gasoline.

(E)The ethanol/gasoline blend has not been widely adopted in Europe.

Sharks have a higher ratio of cartilage mass to body mass than any other organism. They
also have a greater resistance to cancer than any other organism. Shark cartilage contains
a substance that inhibits tumor growth by stopping the development of a new blood
network. In the past 20 years, none of the responses among terminal cancer patients to
various therapeutic measures has been more positive than the response among those
who consumed shark cartilage. If the claims made above are true, then each of the
following could be true

EXCEPT:

(A) No organism resists cancer better than sharks do, but some resist cancer as well as
sharks.

(B) The organism most susceptible to cancer has a higher percentage of cartilage than some
organisms that are less susceptible to cancer.

(C) The substance in shark cartilage that inhibits tumor growth is found in most organisms.
(D) In the past 20 years many terminal cancer patients have improved dramatically
following many sorts of therapy

(E) Some organisms have immune systems more efficient than a shark’s immune system.

Astronomer: | have asserted that our solar system does not contain enough meteoroids and
other cosmic debris to have caused the extensive cratering on the far side of the moon. My
opponents have repeatedly failed to demonstrate the falsity of this thesis. Their evidence is
simply inconclusive; thus they should admit that my thesis is correct. The reasoning in the
astronomer’s argument is flawed because this argument

A. criticizes the astronomer’s opponents rather than their arguments

B. infers the truth of the astronomer’s thesis from the mere claim that it has not been proven

false



C. ignores the possibility that alternative explanations may exist for the cratering
D. presumes that the astronomer’s thesis should not be subject to rational discussion and
criticism

E. fails to precisely define the key word “meteoroids”

I'pammamuxa (Sentence correction)

Follow the requirements of standard written English to choose your answer, paying attention to
grammar, word choice, and sentence construction. Select the answer that produces the most
effective sentence; your answer should make the sentence clear, exact, and free of grammatical
errors. It should also minimize awkwardness, ambiguity, and redundancy.

e As its sales of computer products have surpassed those of measuring instruments, the
company has become increasingly willing to compete for the mass market sales they would
in the past have conceded to rivals.

(A) they would in the past have conceded to rivals

(B) they would have conceded previously to their rivals

(C) that in the past would have been conceded previously to rivals
(D) it previously would have conceded to rivals in the past

(E) it would in the past have conceded to rivals

Ananumuyueckuti ananuz scce (Analytical Writing Assessment)

Read the statement and the instructions that follow it and then make any notes that will help you
plan your response.

“The problem of poorly trained teachers that has plagued the state public school system is bound
to be solved soon. The state has initiated comprehensive guidelines that oblige state teachers to
complete a number of required credits in education and educational psychology at the graduate
level before being certified.”

Explain how logically persuasive you find this argument. In discussing your viewpoint, analyze
the argument’s line of reasoning and its use of evidence. Also explain what, if anything, would
make the argument more valid and convincing or help you to better evaluate its conclusion.

4. COIEPXAHUE BCTYIIUTEJIBHOI'O UCTIBITAHUA
BerynuTenbsHoe UCIBITAHWE COCTOUT U3 YEThIPEX pa3/iesioB, 00Ias MPoJ0HKUTEIBHOCTh
sKk3ameHa — 3 yaca 30 MUHYT.

1. Anamutnueckoe nmucbmo — 1 Tema, 30 MUHYT.
3anmanue: HamKucaTh HEOOJBIIOE 3¢cCe, B KOTOPOM HY>KHO KPUTHYECKHU TPOAHATU3UPOBATH
HEKOE 3a/IaHHOE yTBepkIeHne. CBOe MHEHHUE MPU STOM BbIpa)KaTh HE HYKHO. B 3T0i1
CEKIIMH OLICHUBAETCS Ballle YMEHHE KPUTHYECKU PACCYXKAATh U IPABUIHHO
OpraHW30BBIBAThH UJICH.

Yucio 6amnos: 0—6, BO3MOXKHEI ITI0JIOBUHHBIE 3HAYEHUS.



2. Kputnueckoe mpiieHue — 12 Bonpocos, 30 MUHYT.
3amanue: mpoaHaM3uPOBaTh HH(POPMAIIHIO, IPEACTABICHHYIO B Pa3HbIX (hopMaTax
(rpadudecku, B BUJE TEKCTa U B IU(POBOM BHUJIC) U U3 PA3HBIX HCTOYHUKOB.
Yucno 6amnos: 1-8.

3. Maremarnueckas yactb — 37 BOIIPOCOB, 75 MUHYT.
3ajanue: NpoaHaIu3upOBaTh JaHHBIC U CIEIaTh BBIBOJIbI, HCIOJIb3Yys CBOU HABBIKU
paccyxaeHus. B 3Toli yacTu Takke HY)KHO 33JIeiiCTBOBATh 0a30BbIC 3HAHUS U3 00JIACTH
MaTeMaTHUKH.
Yucno 6amnos: 0-60.

4. BepbanbHas yactb— 41 Bompoc, 75 MUHYT.
3ajanue: MpoYUTaTh TEKCTHI U OTBETUTDH HA PsiJl BOMPOCOB. BepbasibHas 4acTh TECTUPYET
Ballly CIOCOOHOCTh YUTATh U IIOHUMATh TEKCThI, BBIJCIATh U3 HUX apryMEHTHI, a TAKKe
Balll IO3HAHUA B 00JIaCTH IPAMMATUKH aHTJIMACKOTO S3bIKA.

Yucao 6ayuios: 0-60.
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